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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/ 
''����� �$��&���  

 
1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 
$45>G4O ?D>7D4<<4 GG55=>= ?D4>F<>< (?> ?D>D<?N E?5F<4?L=>EF<)  (44?55 3 
D45>G4O ?D>7D4<<4) 3 O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 
ED54=57> 765=4 6 E>>F65FEF6<< E $��% ?> %�� 15.02.03 �>=F46, 
F5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> 
>5>DG4>64=<O (?> >FD4E?O<)   
1.2. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O ?D>D5EE<>=4?L=>7> 
<>4G?O  

� D57G?LF4F5 ?D>E>645=<O GG55=>= ?D4>F<><  EFG45=F 4>?65= >E6><FL 
>E=>6=>= 6<4 45OF5?L=>EF< «�>=F46, F5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 
7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O (?> >FD4E?O<)» < 
E>>F65FEF6GNM<5 5<G >5M<5 >><?5F5=F<< (44?55 - ��) < ?D>D5EE<>=4?L=O5 
>><?5F5=F<< (44?55 - ��): 

1.2.1. �5D5G5=L >5M<E >><?5F5=F<= 
�>4 �5M<5 >><?5F5=F<< 

�� 01 �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 

�� 02 �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 
<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 
6O?>?=5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 03 �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < 
?<G=>EF=>5 D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 
?D>D5EE<>=4?L=>= ED5D5, <E?>?L7>64FL 7=4=<O ?> D<=4=E>6>= 
7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE E<FG4F<OE 

�� 04 -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 
�� 05 �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 

7>EG44DEF65==>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< 
>E>55==>EF5= E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4 

�� 06 �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL 
>E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E 
F5==>EF5=, 6 F>< G<E?5 E GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < 
<56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL EF4=44DFO 
4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07 %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, 
D5EGDE>E55D565=<N, ?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, 
?D<=F<?O 55D56?<6>7> ?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 
GD576OG4==OE E<FG4F<OE 

�� 08 �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < 
G>D5??5=<O 74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 
?>445D64=<O =5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF< 

�� 09 �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 
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7>EG44DEF65==>< < <=>EFD4==>< O7O>4E. 
 

1.2.2. �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<=  
 

��.01 «�D>6545=<5 <>=F464 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 ?GE>>=4?44>G=OE D45>F < E44G4 

>5>DG4>64=<O 6 M>E??G4F4F<N» 

�� 1.1. 

 �EGM5EF6?OFL >D74=<74F<>==>-?D><76>4EF65==O5 D45>FO 4?O 
?>47>F>6>< E5>D>< < <>=F464 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 1.2. 
�D>6>4<FL E5>D>G, D57G?<D>6>G, < ?GE>>=4?44>G 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 1.3. 

�D><76>4<FL >F5=>G E>EF>O=<O 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< ?>E?5 6O?>?=5=<O 
=4?44>G=OE D45>F, >>=FD>?L F5E=<G5E>>7> E>EF>O=<O 
>5>DG4>64=<O ?D< 66>45 6 M>E??G4F4F<N 

�� 1.4. 
�D74=<7>64FL D45>FG ?5DE>=4?4 ?> E5>D>5, <>=F46G < 
?GE>>=4?44>5 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < 
E<EF5< 

��.02 «->E??G4F4F<O, F5E=>?>7<G5E>>5 >5E?G6<64=<5 < D5<>=F 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<» 

�� 2.1. 
�D><76>4<FL 4<47=>EF<>G E>EF>O=<O 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 2.2. 

�D><76>4<FL F5E=<G5E>>5 >5E?G6<64=<5 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 6 ?D>F5EE5 M>E??G4F4F<< 6 
E>>F65FEF6<< E F5E=<G5E>>= 4>>G<5=F4F<5= 

�� 2.3. 

�EGM5EF6?OFL M>E??G4F4F<N 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5< 6 E>>F65FEF6<< E F5E=<G5E><<< 
D57?4<5=F4<< 

�� 2.4. 

�D><76>4<FL D45>FO ?> >D74=<74F<>==><G >55E?5G5=<N < 
?D>6545=<N ??4=>6OE < =5??4=>6OE D5<>=F>6 7<4D46?<G5E><E 
< ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

�� 2.5. 

$47D454FO64FL F5E=>?>7<G5E>GN 4>>G<5=F4F<N 4?O ?D>6545=<O 
D45>F ?> F5E=<G5E>><G >5E?G6<64=<N < D5<>=FG 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5< 

��.03 «�545=<5 F5E=>?>7<G5E>>= 4>>G<5=F4F<< ?> 
7<4D46?<G5E><< < ?=56<4F<G5E><< ?D<6>44<, GEFD>=EF64< < 

E<EF5<4<» 
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�� 3.1. 

�D>6>4<FL F<?>6O5 D4EG5FO ?D< >D>D<?5=<< F5E=>?>7<G5E>>= 
4>>G<5=F4F<< =4 7<4D46?<G5E><5 < ?=56<4F<G5E><5 ?D<6>4O, 
GEFD>=EF64 < E<EF5<O 

�� 3.2. 

�D>D<?OFL F5E=<G5E>GN 4>>G<5=F4F<N =4 7<4D46?<G5E><5 < 
?=56<4F<G5E><5 ?D<6>4O, GEFD>=EF64 < E<EF5<O ?> 7444==O< 
GE?>6<O< 
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2.%&$'�&'$� � %���$����� �$������%&������ �$��&��� 

(�� �$�$��. %��&���,��%&�) 
2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 

�<4 GG55=>= D45>FO �5N5< 6 G4E4E 
�5N5< >5D47>64F5?L=>= ?D>7D4<<O 
?D><76>4EF65==OE ?D4>F<>. 

396 

6 F.G. 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 288 

6 F. G.: 
?D4>F<G5E><5 74=OF<O 6 D4<>4E >E6>5=<O ��.01 
«�D>6545=<5 <>=F464 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 
?GE>>=4?44>G=OE D45>F < E44G4 >5>DG4>64=<O 6 
M>E??G4F4F<N»; 

36 

6    D4<>4E >E6>5=<O ��.02 «->E??G4F4F<O, 
F5E=>?>7<G5E>>5 >5E?G6<64=<5 < D5<>=F 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<»;      

108 

6    D4<>4E >E6>5=<O  ��.03 «�545=<5 F5E=>?>7<G5E>>= 
4>>G<5=F4F<< ?> 7<4D46?<G5E><< < ?=56<4F<G5E><< 
?D<6>44<, GEFD>=EF64< < E<EF5<4<»;   

144 

�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 74G5F4  
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2.2. &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O  

�4<<5=>64=<5 D4745?>6 < F5< 
%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 

45OF5?L=>EF< >5GG4NM<EEO 

�5N5<, 4>44. 
G / 6 F>< 
G<E?5 6 
D>D<5 

?D4>F<G5E>>= 
?>47>F>6><, 

4>44 G 

�>4O 
>><?5F5=F<= < 

?<G=>EF=OE 
D57G?LF4F>6, 

D>D<<D>64=<N 
>>F>DOE 

E?>E>5EF6G5F 
M?5<5=F 

?D>7D4<<O  
1 2 3 4 

��.01 «�D>6545=<5 <>=F464 
7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 
?GE>>=4?44>G=OE D45>F < E44G4 
>5>DG4>64=<O 6 M>E??G4F4F<N» 

 

36 

 

�<4O D45>F 
- �7=4>><?5=<5 E F5E=<G5E>>= < <>=F46=>= 4>>G<5=F4F<5= =4 ?D><76>4EF6> <>=F46=OE D45>F. 
- �D>6545=<5 6E>4=>7> F5E=<G5E>>7> >>=FD>?O <>=F46=>7> >5>DG4>64=<O, ?D>65D>4 =4?<G<O <>=F46=OE 
54<=<F, GEFD>=EF6 < ?D<E?>E>5?5=<=, E>>F65FEF6<5 <E 654><>EF< ?>EF46><. 
- �D>D<?5=<5 4>F4 ?D<5<>< >5>DG4>64=<O 6 <>=F46. 
- �>47>F>6>4 >5>DG4>64=<O, <=EFDG<5=F>6, ?D<E?>E>5?5=<= < D4EE>4=OE <4F5D<4?>6 > 6O?>?=5=<N 
<>=F46=OE D45>F, D4E>>=E5D64F<O 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> >5>DG4>64=<O. 
- �O?>?=5=<5 <>=F46=OE >?5D4F<=, <E F5E=>?>7<G5E>4O ?>E?54>64F5?L=>EFL ?D< <>=F465 =4E>E>6 < 
7<4D><>F>D>6, ?4D4<5FDO <E?OF4=<O < FD55>64=<O > <E?OF4=<N. 
- �O?>?=5=<5 <>=F46=OE >?5D4F<= E<?>6OE F<?<=4D>6, EF5=4>6>5 <E?OF4=<5, >?D545?5=<5 ?4D4<5FD>6 
<E?OF4=<O < <E ?>E?54>64F5?L=>EFL <E 6O?>?=5=<N. 
. 
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- %>EF46?5=<5 < >D>D<?5=<5 F5E=<G5E>>= < >FG5F=>= 4>>G<5=F4F<< E ?D<<5=5=<5< <=D>D<4F<>==>-
>><?LNF5D=OE F5E=>?>7<= ?> <>=F46G, =4?44>5 < <E?OF4=<N 7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6. 
- �O?>?=5=<5 74G5F=>= D45>FO ?> <=4<6<4G4?L=><G 7444=<N  
 

 

��.02 «->E??G4F4F<O, 
F5E=>?>7<G5E>>5 >5E?G6<64=<5 < 
D5<>=F 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < E<EF5<»      

 

108 

 

 

�<4O D45>F 
 �4 6D5<O GG55=>= ?D4>F<>< EFG45=F 4>?65= ?D<>5D5EF< =46O>< G<5=<5 < >?OF, D45>F4FL E <=EFDG<5=F><, 
?D<E?>E>5?5=<O<<, >7=4>><<FLEO E <5F>44<< < E?>E>5>< 6>EEF4=>6?5=<O 45F4?5=. 
- �5F>4O < E<EF5<4 >D74=<74F<< D5<>=F=OE D45>F, E?>E>5O D5<>=F4 7<4D46?<G5E>>7> < ?=56<4F<G5E>>7> 
?D<6>44 < 6>EEF4=>6?5=<O 45D5>F=OE 45F4?5=. 
- �>=OF<5 > F5E=>?>7<G5E>>< ?D>F5EE5. &5E=>?>7<O  E?5E4D=>= >5D45>F>< 45F4?5=. �>DO4>> D47D45>F>< 
F5E=>?>7<G5E>>7> ?D>F5EE4 E?5E4D=>= >5D45>F><. 
- �7=4>><?5=<5 E D45>G5= < F5E=<G5E>>= 4>>G<5=F4F<5= ?> D5<>=FG 7<4D46?<G5E><E < ?=56<4F<G5E><E 
E<EF5< < GEFD>=EF6.  
- �?D545?5=<5 E<EF5< >D74=<74F<< D5<>=F=OE D45>F, >?D545?5=<5 >5N5<4 D45>F, ?>47>F>6>< = ??4=<D>64=<5 
D5<>=F=OE D45>F. 
- �E=>6=O5 F<?O < E>EF46 D5<>=F=OE <4EF5DE><E, D4EEF4=>6>4 >5>DG4>64=<O 6 E>>F65FEF6<< E F5E=<>>= 
557>?4E=>EF<. 
- $45>F4 E <7<5D<F5?L=O<< <=EFDG<5=F4<<, ?<=5=>>=, LF4=75=F<D>G?5<, G7>?L=<>><, E>>5>= < L45?>=><. 
- $45>F4 E <=EFDG<5=F><, >5>DG4>64=<5<, ?D<E?>E>5?5=<O<< < E?5E4D=O<< <=EFDG<5=F4<<. 
- �7=4>><?5=<5 E >E=>6=O<< >?5D4F<O<<  F5E=>?>7<G5E>>7> ?D>F5EE4: D47<5F>>=, ?D46>>=, 7<5>>=, DG5>>=, 
D57>>=, >?<?<64=<5<, E65D?5=<5<, D4765DFO64=<5<, =4D574=<5< D57L5O, ?D>EFD4=EF65==>= D47<5F>>=, 
L45D5=<5<, ?D<F<D>>= < 4>6>4>>=. 
- �D74=<74F<O < =47=4G5=<5  D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<. 
- �O?>?=5=<5 F5E=>?>7<G5E><E >?5D4F<= ?>E?54>64F5?L=>EF< D47D45>F><, <4D><D>6>< < E>DF<D>6>< 45F4?5=. 
- �?D545?5=<5 ?D<7>4=>EF< 45F4?5= <?< <E F5E=<G5E>4O 4>D45>F>4 < <E?D46?5=<5 45D5>F>6. 
- %?>E>5O < <5F>4O GEFD4=5=<O 45D5>F>6 < 6>EEF4=>6?5=<5 <7=>L5==OE ?>65DE=>EF5= < E>54<=5=<=. 
- �D<>5D5F5=<5 =46O>>6, G<5=<= < >?OF4 GF5=<O G5DF565= < F5E=>?>7<G5E>>= 4>>G<5=F4F<<. 
- �7=4>><?5=<5 E F<?>6O<< F5E=>?>7<G5E><<< ?D>F5EE4<< 6>EEF4=>6?5=<O 45F4?5= < G7?>6 7<4D46?<G5E><E 
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< ?=56<4F<G5E><E E<EF5< < GEFD>=EF6: 
- 6>EEF4=>6?5=<5 45F4?5= <5E4=<G5E>>= >5D45>F>>=; 
- D5<>=F E?>E>5>< 4>?>?=<F5?L=OE 45F4?5=; 
- D5<>=F 45F4?5= E64D>>= < =4??46>>=; 
- D5<>=F 45F4?5= <5F>4>< <5F4??<74F<<; 
- D5<>=F 45F4?5= M?5>FD>?<F<G5E><< ?>>DOF<5<; 
- 6>EEF4=>6?5=<5 45F4?5= <5F>4>< ?4=><; 
- 6>EEF4=>6?5=<5 45F4?5= ?>?<<5D4<<; 
- 6>EEF4=>6?5=<5 45F4?5= ?5D574?<6>>= 4=F<DD<>F<>==OE E??46>6. 
 &5E=>?>7<O D5<>=F4 F<?>6OE 45F4?5= < G7?>6 7<4D46?<G5E><E < ?=56<4F<G5E><E E<EF5< < GEFD>=EF6: 
- D5<>=F >E5= < 64?>6; 
- D5<>=F 7G5G4FOE E>54<=5=<=; 
- D5<>=F LF>>>6; 
- D5<>=F F<?<=4D>6 < ?>DL=56OE =4E>E>6: 
- D5<>=F 5>?F>6OE, L?<F56OE E>54<=5=<=; 
- D5<>=F G??>F=5=<=; 
- D5<>=F ?D54>ED4=<F5?L=OE >?4?4=>6: 
- D5<>=F >>=FD>?L=>-<7<5D<F5?L=>= 4??4D4FGDO; 
- 6O?>?=5=<5 D5<>=F=OE G5DF565= < F5E=>?>7<G5E><E >4DF ?> GEFD4=5=<N 45D5>F>6 45F4?5=; 
- >D>D<?5=<5 4>>G<5=F4F<< ?> D5<>=FG < F5E=<G5E>>= ?>E?5D5<>=F=>= M>E??G4F4F<< 7<4D46?<G5E>>7> < 
?=56<4F<G5E>>7> >5>DG4>64=<O; 
- <5F>4O < E?>E>5O >?D545?5=<O 74D4=F<==>7> ED>>4 M>E??G4F4F<< >5>DG4>64=<O, ?>E?5 D5<>=F4. 
��.03 «�545=<5 F5E=>?>7<G5E>>= 
4>>G<5=F4F<< ?> 7<4D46?<G5E><< < 
?=56<4F<G5E><< ?D<6>44<, 
GEFD>=EF64< < E<EF5<4<»                          

 

144 

 

�<4O D45>F:  
- D57G?<D>64=<5 E>>D>EF<, E<=ED>=<74F<O, EF45<?<74F<O E<?>6>7> >D74=4 7<4D>?D<6>44 E ?D<<5=5=<5< 4D>EE5?5=, 
>5D4F=OE >?4?4=>6, D57G?OF>D4 ?>F>>4, 4D>EE5?<DGNM<E 45?<F5?5= ?>F>>4, E5>D>4 EE5< =4 GG55=>-?45>D4F>D=>< 
EF5=45; 
- <4L<==>5 < <4L<==>-4D>EE5?L=>5 G?D46?5=<5 E>>D>EFLN 6OE>4=>7> 765=4 F5E=>?>7<G5E><E <4L<=; 
- - >55E?5G5=<5 D<>E4F<<  6OE>4=>7> 765=4 7<4D>46<74F5?O 6 >?D545?5==>< ?>?>65=<<; 
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- ?>4>?NG5=<5 >?4?4=>6 446?5=<O, >55E?5G<64NM<E EF45<?<74F<N D56<<4 D45>FO 7<4D>?D<6>44; 
-  >55E?5G5=<5 6O?>?=5=<O F5E=>?>7<G5E><E >?5D4F<= F5E=>?>7<G5E>>7> >5>DG4>64=<O E ?D<<5=5=<5< >5N5<=OE 
7<4D46?<G5E><E ?D<6>4>6, <>45?<D>64=<5 EE5< =4 GG55=>-?45>D4F>D=>< EF5=45; 
-G?D46?5=<5 ?=56<4F<G5E><<< ?D<6>44<< M?5<5=F>6 F5E=>?>7<G5E><E <4L<=, <5E4=<7<>6 < ?D<E?>E>5?5=<=; 
- D57G?<D>64=<5 E>>D>EF< 46<65=<O ?>DL=O, G?D46?5=<5 D45>F>= 6OE>4=>7> 765=4 ?=56<>F<?<=4D4, E5>D>4 
?=56<>EE5<; 
- E5>D>4 ?=56<>EE5<, <>45?<DGNM<E F<?>6O5 M?5<5=FO 46F><4F<74F<<.  
- 6O5>D ?4>5F4  ?D<>?44=OE ?D>7D4<< 4?O D47D45>F>< ?D<=F<?<4?L=OE 7<4D46?<G5E><E, ?=56<4F<G5E><E EE5<, EE5< 
G?D46?5=<O ?D<6>44<<; D47D45>F>4  < 6O?>?=5=<5 ?D<=F<?<4?L=OE EE5< E <E?>?L7>64=<5< ?D<>?44=OE ?D>7D4<<. 
 
�E57>: 288  
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3. '%����/ $������&�� ''����� ��%&�����/ 
 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 

$54?<74F<O ?D>7D4<<O GG55=>= ?D4>F<>< ?D54?>?4745F =4?<G<5  GG55=>7> 
>45<=5F4 <>=F464, =4?44><, F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<; ?45>D4F>D<< 7<4D46?<><, 
M?5<5=F>6 7<4D46?<G5E><E < ?=56<4F<G5E><E ?D<6>4>6 <>=F464, =4?44><, 
<E?OF4=<O, 4<47=>EF<>< 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < 
?D<6>4>6, ?45>D4F>D<< - <=D>D<4F<>==OE F5E=>?>7<=, E?5E4D=>=, 
<5E4=>>5D454FO64NM5= <4EF5DE>>=. 

�5>DG4>64=<O GG55=>7> >45<=5F4 <>=F464, =4?44><, F5E=<G5E>>7> 
>5E?G6<64=<O < D5<>=F4 7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < E<EF5<: 
>><??5>FO GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<<: =47?O4=O5 ?>E>5<O ?> 
F5E=>?>7<< F5E=<G5E>>7> >5E?G6<64=<O ?D<6>4>6 < GEFD>=EF6; ?D><OL?5==O5 
>5D47FO 4>E<?L=>-?>DL=56>7> =4E>E4, D44<4?L=>-?>DL=56>7> 7<4D><>F>D4, 
D4E?D545?<F5?5=, ?D54>ED4=<F5?L=>7> >?4?4=4, 7<4D>F<?<=4D4, D<?LFD>6, 
=45>D <=EFDG<5=F>6 4?O E5>D><, D475>D><, =45>D ??4>4F>6. 

�5>DG4>64=<5 ?45>D4F>D<< 7<4D46?<><, M?5<5=F>6 7<4D46?<G5E><E < 
?=56<4F<G5E><E ?D<6>4>6 <>=F464, =4?44><, <E?OF4=<O, 4<47=>EF<>< 
7<4D46?<G5E><E < ?=56<4F<G5E><E GEFD>=EF6 < ?D<6>4>6: �6GEEF>D>==<= 
GG55=>-?45>D4F>D=O= EF5=4 (6 >><??5>F5); 7<4D46?<G5E><5 < ?=56<4F<G5E><5  
M?5<5=FO: 5?>>< 7<4D>D4E?D545?<F5?5=, 5?>>< =4?>D=OE >?4?4=>6, 5?>> 3-E 
?<=5==>7> D54G>F<>==>7> >?4?4=4 EFO>>6>=, 4D>EE5?L E >5D4F=O< >?4?4=><, 
>><??5>F >>??5>F>D>6, <4=><5FDO; =4E>E=O= 47D574F, 7<4D>F<?<=4D, 
7<4D><>F>D, ?=56<>F<?<=4DO, ?=56<>4D>EE5?< E >5D4F=O<< >?4?4=4<<, 
?=56<>D4E?D545?<F5?<, 4D<4FGD4 4?O ?>4E>54<=5=<O M?5<5=F>6 < 7<5><5 
L?4=7<. 
�5>DG4>64=<5 E?5E4D=>= <4EF5DE>>=: %65D?<?L=O5 EF4=>< =4EF>?L=O5, 
DD575D=O= =4EF>?L=O= EF4=>>, E65D?<?L=O= EF4=>> E F<E>4<< «�>D65=F-42» , 
EF4=>> F>G<?L=O= 382�, =4EF>?L=O= F>G<?L=O= EF4=>>, F<EO, ?5DD>D4F>D �-710 
-$, 4D5?L G44D=4O �'-1100, G7>?L?<D<4L<=4 230-2,2G� 9020, =>6>6>4 ?> 
<5F4??G, =45>D <5FG<>>6 < ??4L5>. 
�5>DG4>64=<5 <5E4=>>5D454FO64NM5= <4EF5DE>>=: %65D?<?L=O= EF4=>> 2125, 
E65D?<?L=O= EF4=>> E F<E>4<< «�>D65=F-45», DD575D=O= EF4=>>, F>>4D=O= 
EF4=>> 1�-616, EF4=>> >DG7?>?<?>G=O=, 74F>G=>= EF4=>>, =45>D <5FG<>>6 < 
??4L5>.  

�5>DG4>64=<5 ?45>D4F>D<< - <=D>D<4F<>==OE F5E=>?>7<=: $45>G4O 
EF4=F<O Acer Veriton M4610G/Intel Core i5; <>=<F>D 19" Acer-VI93WGObmd 
1440x900; ?D>5>F>D Acer %1110 1x0.65; ??4=L5F 6 Wacom Bamboo 
Pen.Russian/P; M>D4= 200*210 sm Braum Photo Technik-Professional =4EF5==O=; 
�D>7D4<<=>5 >55E?5G5=<5: Microsoft Win7Pro x64 SP1, %<EF5<4 �4D4=F, Office 
Pro Plus 2016 RUS OLP NL Acdmc, CorelDraw Graphics Suite 2017 Edu Lic, 
�><?4E-3DLT 
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3.2. �=D>D<4F<>==>5 >55E?5G5=<5 D54?<74F<< ?D>7D4<<O 
�?O D54?<74F<< ?D>7D4<<O 5<5?<>F5G=O= D>=4 >5D47>64F5?L=>= 

>D74=<74F<< 4>?65= <<5FL ?5G4F=O5 </<?< M?5>FD>==O5 >5D47>64F5?L=O5 < 
<=D>D<4F<>==O5 D5EGDEO 4?O <E?>?L7>64=<O 6 >5D47>64F5?L=>< ?D>F5EE5. 
�D< D>D<<D>64=<< 5<5?<>F5G=>7> D>=44 >5D47>64F5?L=>= >D74=<74F<5= 
6O5<D45FEO =5 <5=55 >4=>7> <744=<O <7 ?5D5G<E?5==OE =<65 ?5G4F=OE 
<744=<= < (<?<) M?5>FD>==OE <744=<= 6 >4G5EF65 >E=>6=>7>, ?D< MF>< E?<E>> 
<>65F 5OFL 4>?>?=5= =>6O<< <744=<O<<. 
            3.2.1  �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= 
?<F5D4FGDO 

'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5  
4) >E=>6=4O ?<F5D4FGD4: 
7 ?/? �EF>G=<> 
1 �64=>6E><=, .. �. �E=>6O F5>D<< 7<4D>?D<6>44 : GG55=>5 ?>E>5<5 / .. �. 

�64=>6E><=, �. �. �>D7G=>6. 4 %4=>F-�5F5D5GD7 : �4=L, 2022. 4 200 E. 4 ISBN 
978-5-8114-2955-4. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O 
E<EF5<4. 4 URL: https://e.lanbook.com/book/212657 (44F4 >5D4M5=<O: 12.04.2023). 

2 $4G>>6, �. ..  �=56<4F<G5E><5 E<EF5<O 46F><4F<>< : GG55=>5 ?>E>5<5 4?O 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. .. $4G>>6. 4 3-5 <74., ?5D5D45. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 264 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-09114-4. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/514741 
(44F4 >5D4M5=<O: 18.05.2023). 

3. ,<?>6E><=, �. �. %5D6<E=>5 >5E?G6<64=<5 < D5<>=F <4L<= < >5>DG4>64=<O : 
GG55=>5 ?>E>5<5 / �. �. ,<?>6E><=, �. �. �<FGE<=, �. �. �>EFN>56<G. 4 %4=>F-
�5F5D5GD7 : �4=L, 2022. 4 240 E. 4 ISBN 978-5-8114-3279-0. 4 &5>EF : 
M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/206006 (44F4 >5D4M5=<O: 12.04.2023).  

4 �5<E>>6, .. �. �D74=<74F<O < F5E=>?>7<O <E?OF4=<= : GG55=>5 ?>E>5<5 / .. �. 
�5<E>>6, �. �. �47<=4. 4 %4=>F-�5F5D5GD7 : �4=L, 2022. 4 220 E. 4 ISBN 978-5-
8114-3028-4. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 
4 URL: https://e.lanbook.com/book/213002 (44F4 >5D4M5=<O: 12.04.2023). 

5 �4D=4GE �.�. �ED4=4 FDG44 : GG55=<> 4?O %�� / �.�. �4D=4GE. 4  �>E>64 : 
.D4=F, 2019. 4 380 E. -  (�D>D5EE<>=4?L=>5 >5D47>64=<5). ISBN 978-5-534-02527-
9. 3 &5>EF : =5?>ED54EF65==O=. 
�4D=4GE, �. �.  �ED4=4 FDG44 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / �. �. �4D=4GE. 4 2-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2023. 4 343 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
15942-4. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/510311 (44F4 >5D4M5=<O: 11.05.2023). 

6 �<D>L<=, �. �.  %?5E4D=>5 45?>. �D4>F<>G< : GG55=>5 ?>E>5<5 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �<D>L<=. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2023. 4 247 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
11960-2. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/518086 (44F4 >5D4M5=<O: 18.05.2023). 

6) 4>?>?=<F5?L=4O ?<F5D4FGD4: 
7 �EF>G=<> 
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?/? 
7 $4E<<O=>6, %. �.  &5E=>?>7<O <4L<=>EFD>5=<O: E5>D>4 < <>=F46 : GG55=>5 

?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / %. �. $4E<<O=>6, �. �. 
�D4E<?L=<>>6, -. �. �4DFO=>6. 4 2-5 <74. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 
4 241 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-04387-7. 4 
&5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/514793 (44F4 >5D4M5=<O: 18.05.2023). 

8 '<<?L, �. �. �<4D>?=56<>46F><4F<>4 FD4=E?>F=>-F5E=>?>7<G5E><E <4L<= : 
GG55=>5 ?>E>5<5 / �. �. '<<?L. 4 2-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2022. 
4 272 E. 4 ISBN 978-5-8114-2042-1. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-
5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/212633 (44F4 
>5D4M5=<O: 12.04.2023).  

9 �G?D<O=>6, �. �.  �=D>D<4F<>==>5 >55E?5G5=<5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
: GG55=<> < ?D4>F<>G< 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. 
�G?D<O=>6. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 255 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-00973-6. 4 &5>EF : 
M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/512863 (44F4 >5D4M5=<O: 18.05.2023). 

 
6) ?5D<>4<G5E><5 <744=<O: 
7 
?/? 

�EF>G=<> 

12 �765EF<O 6OEL<E GG55=OE 746545=<=. �5>?>7<O < D47654>4 : =4GG.-F5E=. 6GD=4?  / 
GGD54<F5?L $>EE<=E><= 7>EG44DEF65==O= 75>?>7>D47654>G=O= G=<65DE<F5F <<. 
%5D7> �D46>=<><475; 7?.D54. �. �. �<E>6. 3 �>E>64 : 1958  4 .4 �OE>4<F 6 D47 6 
7>4. 3 ISBN ?5G4F=>= 65DE<< 0016-7762. 3 &5>EF : M?5>FD>==O=  // -�% elibrary 
[E4=F]. 4 URL : https://elibrary.ru/contents.asp?id=43158712  (44F4 >5D4M5=<O: 
09.04.2022)  
 // [E4=F]. 4 URL : http : //mgri-rggru.ru/science/zhurnal (44F4 >5D4M5=<O : 
15.05.2023). 

13 ���$������: =4GG=O= 6GD=4? /%5<5=>6 %F4=<E?46 �675=L56<G,  2016 4 .4   
�>E>64 : %5<5=>6 %F4=<E?46 �675=L56<G . 2 D474 6 7>4 3 ISSN >=?4==>6>= 65DE<< 
2542-0518  . 3 &5>EF : M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL 
: https://www.elibrary.ru/contents.asp?id=48045274 (44F4 >5D4M5=<O : 14.05.2023). 

 
7) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 
?/? 

�EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-
F5E=<G5E><5 =4G>< (&N<�')  
www.e.lanbook.com   

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «elibrary» / �D46>>5?444F5?L: �5M5EF6> E 
>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU) 
 https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.urait.ru 
5 �=D>D<4F<>==>-?D46>6>5  >55E?5G5=<5 « �4D4=F»           

 (�>>4?L=4O  <=D>D<4F<>==>-?D46>64O E<EF5<4) garant.ru 
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3.3. �44D>6>5 >55E?5G5=<5 >5D47>64F5?L=>7> ?D>F5EE4 
&D55>64=<O > >64?<D<>4F<< ?5447>7<G5E><E (<=65=5D=>-

?5447>7<G5E><E) >44D>6, >EGM5EF6?ONM<E DG>>6>4EF6> ?D4>F<>>=:  
- =4?<G<5 6OEL57> >5D47>64=<O, E>>F65FEF6GNM57> ?D>D<?N 

?D>D5EE<>=4?L=>7> <>4G?5=.  
- >?OF 45OF5?L=>EF< 6 >D74=<74F<OE E>>F65FEF6GNM5= 

?D>D5EE<>=4?L=>= ED5DO, ?<5> ?D>E>645=<5 EF46<D>6>< 6 ?D>D<?L=OE 
>D74=<74F<OE =5 D565 1 D474 6 3 7>44. 

$G>>6>4EF6> ?D4>F<>>= 4>?6=O >EGM5EF6?OFL ?D5?>4464F5?< 
?D>D5EE<>=4?L=OE <>4G?5=.  

 
4. ���&$��, � �&���� $��'�,&�&�� �%�����/ 

�$��$���/ �$������%&������ �$��&��� 
�>=FD>?L < >F5=>4 D57G?LF4F>6 ?D>E>645=<O GG55=>= ?D4>F<>< 

>EGM5EF6?O5FEO DG>>6>4<F5?O<< 6 ?D>F5EE5 6O?>?=5=<O >5GG4NM<<<EO 
7444=<= 6 E>>F65FEF6<< E ?D>7D4<<>= GG55=>= ?D4>F<><.  

�> D57G?LF4F4< ?D4>F<>< >5GG4NM<<EO E>EF46?O5FEO >FG5F > 
?D>E>645=<< GG55=>= ?D4>F<><.  

�>=FD>?L < >F5=>4 D57G?LF4F>6 ?D>E>645=<O ?D4>F<><  >EGM5EF6?O5FEO 
?D5?>4464F5?5< 6 ?D>F5EE5 6O?>?=5=<O D45>F >5GG4NM<<<EO < ?D< 
>>>=G4=<< ?D4>F<>< ?D<=OF<5 74G5F4. 

 
$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< �5F>4O >F5=>< 

��.01 «�D>6545=<5 <>=F464 7<4D46?<G5E><E < ?=56<4F<G5E><E 
GEFD>=EF6 < E<EF5<, 6O?>?=5=<5 ?GE>>=4?44>G=OE D45>F < E44G4 
>5>DG4>64=<O 6 M>E??G4F4F<N» 

�� 1.1. �EGM5EF6?OFL 
>D74=<74F<>==>-
?D><76>4EF65==O5 D45>FO 
4?O ?>47>F>6>< E5>D>< < 
<>=F464 7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < 
E<EF5< 

�5<>=EFD4F<O  >4G5EF64 
4=4?<74 4>>G<5=F4F<< 
=5>5E>4<<>= 4?O 
6O?>?=5=<O <>=F46=OE 
D45>F; 
?>7<G5E>>7> <7?>65=<O 
?>E?54>64F5?L=>EF< <>=F464 
?D<6>4>6 < E<EF5< 

�45?N45=<5 < 
M>E?5DF=4O 

>F5=>4 
6O?>?=5=<O 

7444=<=. 
->E?5DF=>5 

=45?N45=<5 < 
>F5=>4 

>D>D<?5=<O 
>FG5F4 ?> 
?D4>F<>5. 

 �4G5F. 
 �� 1.2. �D>6>4<FL E5>D>G, 
D57G?<D>6>G, < 
?GE>>=4?44>G 
7<4D46?<G5E><E < 
?=56<4F<G5E><E GEFD>=EF6 < 

�5<>=EFD4F<O G<5=<O G<F4FL 
EFDG>FGD=O5 < 
DG=>F<>=4?L=O5 EE5<O; 
-45<>=EFD4F<O ?D4>F<G5E><E 
=46O>>6 ?> 74?GE>G 6 D45>FG 
?D<6>4>6 < E<EF5<; 

�45?N45=<5 < 
M>E?5DF=4O 
>F5=>4 
6O?>?=5=<O 
7444=<=. 
->E?5DF=>5 
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E<EF5< ->?D545?5=<O 
?>E?54>64F5?L=>EF< 74?GE>4 
?D<6>44; 
-6O5>D4 D45>G<E ?4D4<5FD>6 
D45>FO ?D<6>44 < 
?>E?54>64F5?L=>EF< <E 
=4?44><; 
- ?D4>F<G5E>>7> =46O>4 6 
?>?L7>64=<< <=EFDG<5=F4<< 
< ?D<E?>E>5?5=<O<<; 
->5>E=>64=<O 6O5>D4 
<=EFDG<5=F4 < ?>EFD>=>< 
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